Answer on Question #58929 — Math —Trigonometry

Question

Which equation can be used to model simple harmonic motion?

d=acos(wt)
d=asin(wt)+k

d=acos[w(t +k]]

d=sin(awt)

Answer: d = Acos(wt).

Question

‘ : y wr=seul| lh _
For the simple harmonic motion equation d-“'"ly'l , what is the

maximum displacement from the equilibrium position?

Solution

For the simple harmonic motion equation d = SSin(g * 1),

the amplitude is A = 5, so the maximum displacement from the equilibrium
position is 5.

Answer: 5.

Question

- m
For the simple harmonic motion equation 9= 55“"[7*]. what is the period?

Solution
d=55in(£*t), =2—n,w=E.
4 w 4
Periodis T = ZT” = 8s.
4

Answer: 8 s.
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